p-value Practice


Portion of Table T in the Appendix D:
Probabilities to the RIGHT of t or 2-sided probabilities
	Two-tail
	.20
	.10
	.05
	.02
	.01

	Df/ One-tail
	.10
	.05
	.025
	.01
	.005

	13
	1.350
	1.771
	2.160
	2.650
	3.012

	14
	1.345
	1.761
	2.145
	2.624
	2.977

	15
	1.341
	1.753
	2.131
	2.602
	2.947

	16
	1.337
	1.746
	2.120
	2.583
	2.921


For a-c below, draw the picture corresponding to the p-value and bracket it based on the table.  Assume all are hypothesis tests about a single population mean, with alternative and n as specified. You can also determine whether or not to reject the null hypothesis using significance level .05.

a. alternative – less than, t=2.0, n=15

b. alternative – not equal, t=2.2, n=16

c. alternative – less than, t=-2.1, n=14

You can also find the critical values – t* for confidence intervals. Bottom row of the Table has the confidence levels (you should be able to figure these out yourselves also), and row above that is z*!

d. What would the t* be for a 90% confidence interval for a population mean when n=15?

e. How about for a 98% CI for a population mean when n=14?


